Einwohner mit Hauptwohnung in Niirnberg Laufamholz (Melderegister)
Stand :31.12.2008 Stand:31.12.2009 Stand:31.12.2010 Stand:31.12.2011 Stand:31.12.2012 Stand:31.12.2013 Stand:31.12.2014 Stand:31.12.2015

2008 2009 2010 2011 2012 2013 2014 2015
mannlich 3683 3771 3808 3875 3950 3953 3987 4019
weiblich 455 4128 4179 4245 4298 4325 4347 4385
Einwohner 496299 495459 495977 497949 503402 509005 513339 516770
zusammen 7738 7899 7987 8120 8248 278 8334 8404
Stand: 2008 2009 2010 2011 2012 2013 2014 2015
Bezirk Stadt

2008 2009 2010 2011 2012 2013 2014 2015
0-5 429 429 445 448 457 454 449 440
6-14 703 712 713 722 746 772 775 794
15-64 4770 4854 4924 5006 5106 5094 5148 5191
ab 65 1836 1904 1905 1944 1939 1958 1962 1979
Einwohner 496299 495459 495977 497949 503402 509005 513339 516770
Stand: 2008 2009 2010 2011 2012 2013 2014 2015
Bezirk Stadt

2008 2009 2010 2011 2012 2013 2014 2015
Deutsche 7204 7332 7387 7499 7610 7620 7654 7705
Auslander 534 567 600 621 638 658 680 699
darunter aus | 186 210 218 227 256 280 316 305
darunter aus ] 78 82 81 78 78 81 77 84
Einwohner 496299 495459 495977 497949 503402 509005 513339 516770
Bezirk Stadt

2008 2009 2010 2011 2012 2013 2014 2015
ledig 2763 2810 2871 2953 3069 3072 3128 3186
verheiratet 3919 312 4041 4066 4065 4095 4090 4099
verwitwet 548 550 546 558 570 550 548 545
geschieden 504 527 529 543 544 561 568 574
Einwohner 496299 495459 495977 497949 503402 509005 513339 516770

2008 2009 2010 2011 2012 2013 2014 2015
zusammen 7738 7899 496506 8120 8248 278 8334 8404
Mitglieder 1.216 1.216 1.169 1.142 1.152 1.134 1.145 1.159 1.004|
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